Struck Corporation
W51 N545 Stuck Lane
PO Box 307
Cedarburg, WI 53074

Phone: (262) 377-3300
Email: parts@struckcorp.com

Text: 262-233-4292

Abbreviated parts list for the MAGNATRAC MD196K & RS196K.

**All prices are subject to change daily.** Thank you.

Part# Description Pricing
000225L/R Brake caliper assembly-Left $69.68
000228 Machine key, 1/4" x 1/4" x 1" $1.25
000252A Shell, bearing (single pc), 3 3/4" OD $3.72
0002528 Bearing with collar & set screws, 1" ID x 2" OD $16.32
000252kit Bearing kit - (1" ID x 2" OD) Set screw & 2 Shells $23.76
000440 Leaf spring $15.67
000706 O-Ring, 1-3/16" ID, {front idler & rear drive track sprocket) $1.30
000716 Steel washer, 1"ID x 1-1/2" OD $0.78
000727 Snap Ring, 1-3/16" ID, {front & rear axle) $1.17
000729 Snapring, 1" ID $1.52
000904 Foot pad, non-skid $1.00
000910 Hitch pin $0.52
000933A-Replaced by #004562 Replacement Seat $126.47
001010C-up Washer/spacer, 1" OD X 5/16" ID X 1/8" Thick, stainless $1.03
001148 Interlock switch, safety, normally closed (for parking brake switch) $34.07
001204D CA557 Track pin & cotter Key (5/16" diameter) $6.40
001354 Clip {(Wide "U" shape) $1.80
001442 Compression spring for foot throttle. Left & right handle. $3.56
001612Kit Battery box kit (Painted only) - Includes cover and all necessary items. $215.5
001637-up Tube spacer, for chain guard, unpainted $3.42
001638-up Rod, unpainted $6.45
001643-up Power shaft {reverse}, unpainted, 7/2020 to current $154.96
001653-up Brace, unpainted $4.29
001658-up Brake pull, unpainted $3.00
001659Kit Toolbox kit {Painted only} - Includes cover and all necessary items $166.73
001.672-up-Replaced by #004328 Seat Pan Spacer $1.92
001674-up Riser, unpainted $13.78
001685-up Tube, unpainted { used in the steel or rubber tracks) $4.54
001688-up Seat Pin, unpainted $8.34
001689-up Washer, 1-3/4" OD X 1/2" 1D X 5/16", unpainted $1.51
001691-up Welded expander, unpainted $73.20
001695-up Power shaft (forward) with single belt system, unpainted $89.50
001696-up Tube, unpainted $2.93
001699kit Complete track set $1356.00
001701-up Bushing, 1/2', unpainted 52.20
001788-up Hardened sprocket & shaft, unpainted 548.68
001792-up Brake yoke, unpainted $10.30
001802 Brake disc, 1" bore and 1/4" keyway $32.36
001805A #50H Chain, 53 pitches, 33 1/2 in length (PRIMARY DRIVE) $30.15
001805B #50H Connector link (PRIMARY DRIVE) $3.99
001806 Track tensioner polyurethane {tan) 3/4" ID x 1 3/4" OD $18.00
001806Kit Track tensioner kit $38.96
001810 Track tension bolt 1/2 x 13 x 9" Carriage bolt $4.68
001810Kit Track tension bolt kit $38.96



001812 Sprocket, idler (17 tooth, 1/2" bore) $35.89
001812Kit Sprocket, idler kit $46.93
001820 Collar, 1/4 1D x 1/2 OD $2.42
001840 Cage clip, use with the hood {2) #001783A-up $2.28
001866 Black plastic knob with 3/4" screw for hood $4.05
002051-Replaced by  #001925 3,75 Idler pulley with drain hole. $23.45
002043 Pulley, "V", 14" OD x 1" bore, 1/4" keyway. $39.74
002060 Grip, handle, red $3.96
002065-up Axle, front or rear 1 3/16" diameter, 40 3/8”" long, unpainted $86.96
002078 Belt, track clutch - Forward/Reverse (#6856 Gates belt} 520.21
002583 Thin shim washer - 5/8 x 1" 18GA $0.16
004111A #40 Chain 101 pitches (chain only} $23.49
004111B #40 Chain connector link $1.50
004112 Sprocket, 40B12 x 3/4" x 3/16 Bore keyway. $18.56
004117-up Engine mount $37.18
004123 #31572 Wiretap $0.49
004125XX Throttle cable assembly $5.03
004126-up Throttle lever, unpainted (Short Version) $11.10
004127-up Choke rod, unpainted 59.43
004133-5 Air filter (Briggs 1150 series) $10.49
004133-6 Pre filter (Briggs 1150 series) $10.39
004133-7 Spark plug (Briggs 1150 series) $10.08
004134XX Wire harness #A $9.17
004135XX Wire Harness #B 525.28
004136XX Wire C - Gray wire w/#295 and #1853 53.39
004137XX Wire D - Gary Wire with #299 and #295 $3.34
0041338XX Wire E - White wire w/#1855 and #1333 $2.43
004139XX Wire F - Red wire w/ #299 and #296 51.95
004141 3/16 x 3/16 x 1" Machine Key — PLAIN $1.25
004189 Washer, 13/4" OD X 5/16" ID X 5/16", unpainted $1.09
004328 Tube, stainless (seat pan spacer) $1.92
004560 Seat switch - normally closed $7.54
004562 Seat - Replacement seat $108.54
DEC-USA USA 3” Circle decal, laminated. $3.85
DEC-MD196K Sheet1 Decals - MINI-DOZER MD196K $34.17
DEC-MD196K Sheet2 Decals - MINI-DOZER MD196K $34.17
DEC-RS196K Sheet 1 Decals - RS196K - Label Sheet of 4 Decals $32.00
DEC-RS196K Sheet2  Decals - RS196K - Label - 12 Decals $32.00

Shipping costs will be added to your order amount. We accept Visa, Mastercard, American Express, Discover,
Pay Pal and checks with a 2-week waiting period. Thank you.



